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QUESTION 1

A developer wants to release resources within a stateless session bean class. The cleanup method should be executed
by the container before an instance of the class is removed. The deployment descriptor is NOT used. 

Which three statements are correct? (Choose three.) 

A. The cleanup method may declare checked exceptions. 

B. The cleanup method must have no arguments and return void. 

C. The cleanup method is executed in an unspecified transaction and security context. 

D. The developer should mark the cleanup method with the @PreDestroy annotation. 

E. The developer should mark the cleanup method with the @PostDestroy annotation. 

F. The cleanup method is executed in the transaction and security context of the last business method Invocation. 

Correct Answer: BCD 

 

QUESTION 2

Which two are programming restrictions in the EJB specification? (Choose two.) 

A. An enterprise bean must NOT attempt to load a native library. 

B. An enterprise bean must NOT declare static fields as final. 

C. An enterprise bean must NOT attempt to create a new security manager. 

D. An enterprise bean must NOT propagate a RuntimeException to the container. 

E. An enterprise bean must NOT attempt to obtain a javax.naming.InitialContext. 

Correct Answer: AC 

The following is a list of Java features that you should avoid, hence restricting their use in your EJB components\\'
implementation code: 

(A)

 Loading native libraries. 

(C)

 Attempting to create or obtain a class loader, set or create a new security manager (C), stop the JVM, change the input,
output, and error streams. That restriction enforces security and maintains the EJB container\\'s ability to manage the
runtime environment. 

(not B) Using static, nonfinal fields. Declaring all static fields in the EJB component as final is recommended. That
ensures consistent runtime semantics so that EJB containers have the flexibility to distribute instances across multiple
JVMs. 
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Reference: Programming restrictions on EJB 

 

QUESTION 3

Which two annotations can be applied at the class, method, and field levels? (Choose two.) 

A. @EJB 

B. @Init 

C. @Resource 

D. @RolesAllowed 

E. @PostActivate 

Correct Answer: AC 

A: javax.ejb.EJB Description 

Target: Class, Method, Field 

Specifies a dependency or reference to an EJB business or home interface. 

You annotate a bean\\'s instance variable with the @EJB annotation to specify a dependence on another EJB. 

C: javax.annotation.Resource Description 

Target: Class, Method, Field 

Specifies a dependence on an external resource, such as a JDBC data source or a JMS destination or connection
factory. 

Incorrect: 

B: javax.ejb.Init Description Target: Method 

D: javax.annotation.security.RolesAllowed Description Target: Class, Method Specifies the list of security roles that are
allowed to access methods in the EJB. 

E: javax.ejb.PostActivate Description Target: Method Specifies the lifecycle callback method that signals that the EJB
container has just reactivated the bean instance. 

Reference: EJB 3.0 Metadata Annotations Reference 

 

QUESTION 4

A developer writes a stateful session bean with local business interface Bar containing method test. Method test is
implemented as: 

11.

 @Remove 
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12.

 public void test () {} 

A business method in a stateless session bean invokes a reference to bean Bar as follows: 

11.

 @EJB Bar bar; 

12. 

13.

 public void foo () { 

14.

 bar.test (); 

15.

 bar.test(); 

16.

 } 

Assuming execution reaches Line 15, what is the expected result? 

A. Method foo returns without error. 

B. A javax.ejb.NoSuchEJBException is thrown. 

C. A java.rmi.NoSuchObjectException is thrown. 

D. A javax.ejb.NoSuchEntityException is thrown. 

Correct Answer: B 

 

QUESTION 5

Which statement about message-driven beans is correct? 

A. Each message-driven bean instance will be invoked by only one thread at a time. 

B. When dispatching messages to message beam instances the container must preserve the order in which messages
arrive. 

C. If a message-driven bean is associated with a JMS queue, each bean instance in the pool will receive each message
sent to the queue. 

D. If a message driven bean is associated with a JMS durable subscription, each bean instance in the pool will receive
each message sent to the durable subscription. 
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Correct Answer: A 
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